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M.Com. DEGREE EXAMINATION, NOVEMBER 2016.

II YEAR — IV SEMESTER

MAJOR PAPER – XIII  ADVANCED MANAGEMENT ACCOUNTING AND DECISION MAKING
Time : 3 hours

Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What is working capital?
2. Ascertain the change in working capital form the following:

(a) Increase in some items of C.A  `12,000.

(b) Decrease in some items of C.A `9,000.

(c) Increase in some items of C.L  `10,000.

(d) Decrease in some items of C.L `12,000.

3. Write the formula for liquid ratio.

4. What is price earnings ratio?

5. Find out operating ratio

Cost of goods sold 
      `1,80,000

Other operating expenses `30,000

Net sales 


     `3,00,000



6. What is a budget?

7. What is a flexible budget?

8. What is marginal costing?

9. What is a Break Even Point?

10. From the following information find out P/V Ratio and margin of safety.

Sales 


`10,00,000

Variable cost

`4,00,000

Fixed cost 


`4,00,000

11. What is meant by variance?

12. From the following, calculate material price variance, assuming standard price per Kg is `8/-

Opening stock of material 

50 Kg at `10/Kg.

Material purchased 


850 Kg at `10/Kg.

Closing stock of material 

100Kg.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13. List out the advantages of cash flow statement.
14. You are given the following information:
`

Cash



   18,000


Debtors 


1,42,000


Closing stock

1,80,000


Bills payable 

   27,000


Creditors


   50,000


Outstanding exp
 
   15,000


Tax payable 

   75,000

Calculate 
(a) Current ratio



(b) Liquidity ratio



(c) Absolute Liquidity ratio

15. What are the essentials of a successful budgetary control?

16. Draw up a flexible budget from production at 75% and 100% capacity on the basis of the following data for a 50% Activity

per unit








     `

Materials 









   100

Labour









    50
Variable expenses (direct)






    10

Administrative exp (50% fixed)





40,000

Selling and distribution exp (60% fixed)



50,000

Present production (50% activity)




  1,000 units

17. Bring out the differences between absorption costing and marginal costing.

18. An automobile manufacturing company finds that the cost of making part no: 208 in its own workshop is `6/-. The same part is available in the market at `5.60 with an assurance of continuous supply. The cost data to make the part are 
Material 



`2

Direct Labour


`2.50

Other variable costs

`0.50

Fixed cost



`1.00






`6.00
(a) Should be part be made or bought?
(b) Will your answer be different if the market price is `4.60?

19. The standard estimate for materials to manufacture 1000 units of a commodity is 400 Kgs at `2.50per kg. When 2000 units of the commodity are manufactured, it is found that 820 kgs of material are consumed at `2.60 per kg.
Calculate the material variances.
SECTION C — (2 × 15 = 30 marks)

Answer any TWO questions

20. From the following Balance Sheet prepare a Funds Flow Statement
Balance Sheet

	Liabilities
	30.6.1987

`
	30.6.1988

`
	Assets
	30.6.1987

`
	30.6.1988

`

	Share capital
	1,80,000
	2,00,000
	Good will
	24,000
	20,000

	Reserved fund
	28,000
	36,000
	Buildings 
	80,000
	72,000

	P&L A/C
	39,000
	24,000
	Machinery
	74,000
	72,000

	Trade creditors
	16,000
	10,800
	Investments
	20,000
	22,000

	Bank O.D
	12,400
	2,600
	Inventories
	60,000
	50,800

	Provision for taxation 
	32,000
	34,000
	Debtors
	40,000
	44,400

	Provision for doubtful debts
	3,800
	4,200
	Cash
	13,200
	30,400

	
	3,11,200
	3,11,600
	
	3,11,200
	3,11,600


Additional information:
(i) Depreciation charged on machinery `10,000 and on buildings `8,000.

(ii) Investments sold during the year `3,000.

(iii) `15,000 interim dividend paid during Jan 1988.

(iv) Taxes paid during the year `30,000.

Prepare  (a) A statement of changes in working capital.

              (b) A funds flow statement.
21. Prepare a Balance Sheet with as many details as possible from the following information:
Gross profit ratio




20%

Debtors turnover




6 times

Fixed assets to network



0.80


Reserves to capital




0.50

Current ratio





2.5



Liquid ratio





1.5


Net working capital



   `3,00,000

Stock turnover ratio




6 times

22. From the particulars given below calculate:

(a) Break even point

(b) Profit or loss when sales are `12,000
(c) Sales required to earn a profit of `5,000.

Sales


Profit/Loss




Period 1

10,000

   -500






Period 2

14,000

 1,500

23. From the following data, calculate labour variances:

Budgeted labour for completing  job X:

8 skilled workers at `10 per hour for 20 hours.

12 unskilled workers at `8 per hour for 20 hours.

Actual labour for completing job X:

12 skilled workers at `11 per hour for 20 hours.

13 unskilled workers at `7 per hour for 20 hours.

——————— 
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